LightnessL* yyp for the Just Noticeable Difference (JND)

For adjacent surface colours in the range 0,0836:90

or the digital range 1/255=0,0038<1,00 it is valid:

L* ;np = & (RIR)X [1] a=572R,=1,00;k=0,14=1/7,2
= b (RIR)¥ [2] b=aR/R.)"=450;R,=0,18

ForR=R,, it is valid: L* jyp,=450.

Derivation of equation [2] gives with-k = 0,86:

3(L* 3np)/3R = ¢ (RR)* ™ [3] c= (b K/R,=63/18=35
or for the treshol@(L* ;yp)=1

SR=d (RIR)* ¥ [4] d=R/(bK) = 18/63 = 0,29

For the surround lightne$s ;yp,=450with R=Rthe threshold

ORynpy = 0,29.This threshold isndependenof k.
CEA11-2N




